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= —4x°+7x+15

B =(-4x-5)(-3+x)
= —4x(—3+ x)—5(-3+ )
=12x — 4x* +15—5x

A=(2-x)(Bx+1)
=2(3x+1)- x(3x+1)

BX + 2 — 3x? - X
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C=4(2x-5)-6(x+3)
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F=(x+9)(3-2x) ; E:%x(Sx—lo) ; D =2x(x-1)+4x(x+7)

H = (2x-1)(x* +3) :

G =(3y-5)(-10+ y)

J=(x+2)(8+3x)-2(1-x)(x=7) ; I =3x(x+1)+(5+x)(x-2)
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H =(2x-1)(x* +3)
=2x(x* +3)-1(x* +3)
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=3y(-10+y)-5(-10+y)
=-30y +3y* + 50 -5y
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D=27x-27x ; C=2x"+3x ; B=5(x-2)-8x(x-2) ; A=5x"+2x"+10x
F =(2x+1)(8+ x)—(3x—1)(2x+1) E =9x(x—3)+9x(10+ 2x)
H =(11x-3)" +(11x - 3)(5+9x) G =10x2 -5x +15
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D =27x* - 27x C =2x*+3x B=5(x—2)-8x(x-2) A=5xC + 25 +10X
D =27x(x-1) C=x(2x+3) B=(x-2)(5-8x) A= x(5% + 2x+10)
F =(2x+1)(8+x)—(3x-1)(2x+1) E =9x(x~ )+9x(10+2x)
G =10x"-5x+15 = (2x+1)[(8+x)-(2x+1)] =9x[ (x—3)+(10+2x)]
G=5(2x" - x+3) ~(2x+1)(8+ x—2x~1) -9 (+3+10+2x)
F=(2x+1)(-x+7) E=9x(3x+13)
H =(11x - 3)" + (11— 3)(5+ 9x) = (11x - 3)[ (11— 3) + (5+ 9X) ]
= (11x - 3)(11x— 3+ 5+ 9x) =| (11x - 3) (20x + 2)
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C=(2+3x)(2-3x) | | B

=4-9x°

=(5- 7x)2
=2°—(3x)’ -
= 25— 70X + 49x°

5% _2x5x 7x+(7x)2

=(3x+ 4)2
:(3x)2 + 2% 3Xx 4+ 4?
=9x% + 24x +16
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C =144x% — 4 B =16 — 56X + 49x° A=25%"+30x+9
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|l = (B3x+4) -(1-2x)(6+x) ; H =(4x+1)(4x-1)- (8x+ 2)
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C=9-6x+X B = 25x* + 40x + 16| A= 2 +12x +36
F=(x-2)(x+2) E=(4y-1) D=(2x-5)
=x* - 22 =(4y)’ - 2x 4yx1+1? = (2x)* - 2x2xx5+5"
F—16y2—8y+1 C=4x’ — 20x+ 25
H = (4x+1)(4x—1) - (3x+2)’ G=(3x+5)(3x—5)
=(4x)2—12—[(3x)2+2><3x><2+22} —(3X)2—52
=16X" —1-[9X + 24x+ 4] 9 _5?
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C=rx%2-107r+25 : B=9x?+12x+ 4 - A=x>+10x+ 25
F=1-y? . E =x°-16 ; D =4x*-4xy+y’
H = (x+3) -16 ; G =100x* -9
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C=72-107 +25 B=9x?+12x+4 A=x>+10x+25
=1 -2x7x5+5 = (3X)° +2x3xx 2+ 2 =X +2x Xx5+5
C=(r-5) B=(3x+2) A=(x+5)’
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F=1-y° E=x*-16 D =4x* - 4xy + y?
=1°—y? =x* -4 =(2x)" —2x2xx y+ y?
F=(1-y)(+y) E=(x-2)(x~+2) D=(2x-y)’
2
=(x+3) -4 ~ (10x)* - 3
H=[(x+3)-4][(x+3)+4] G = (10x—3)(10x+3)
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B = 20037 — 10037 A-105? 952 O 0=E d=>
— (2003 -1003)(2003 + 1003) — (105 - 95)(105 + 95) =10 x 200
=1000x 3006 = [3006000 A=2000
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E =(3x—5)"—(3x—5)(x+5)=(3x)" —2x3xx5+5° —(3x +15x — 5 — 25) (1

= 9x% — 30X+ 25— 3X’ — 15X+ 5X + 25 |=6X° — 40X+ 50|
E =(3x-5)" —(3x-5)(x+5)=(3x-5)[(3x-5)~ (x+5)]
=(3x-5)(3x-5-x-5) =|(3x-5)(2x—-10)
E=(3x1-5)(2x1-10)=(3-5)(2-10)=-2x(-8)=[16] : ols x =1 oLsI3| (3
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